Selection Tinv =01  7ipy =03 7jpy = 0.6 Finy = 0.9

pT (]1/2) > 200GeV, 17(]1,2) <24 86.3 70.4 33.6 4.1
Rt > 0.15 13.1 37.1 58.5 79.0

An(J1,]2) < 15 84.4 85.0 84.8 78.3

mt > 1.5TeV 61.0 47.3 29.4 25.4

N, =0 96.6 97.4 97.6 98.8

Ne =0 99.5 99.5 99.6 99.5

p?iss filters 99.9 99.9 99.9 99.9

AR(j1,2, Chonfunctional) > 0.1 94.8 95.3 96.2 96.8
veto f,(j1) > 0.7 & pr(j1) > 1.0 TeV 99.9 99.9 100.0 99.9
APmin < 0.8 93.2 90.6 77.3 30.9

Efficiency [%] 49 8.8 3.5 0.19

high-Rt 34.7 425 56.6 71.7

low-Rt 65.3 57.5 434 28.3

high-SV]2 27.4 29.5 26.5 8.8

low-SV]J2 51.9 40.6 20.1 4.8



